
Контрольная работа
по иностранному языку

1. Find the English equivalents to the following Russian words:
	1) 
	проект
	a) design
	b)
	decision
	c)  designation

	2)
	колесо
	a) while
	b)
	wheel
	c) wheal

	3)
	транспортное
	a) vehicle
	b)
	vehicular
	c) velocimeter

	
	средство
	
	
	
	

	4)
	двигатель
	a) engineer
	b)
	engineering
	c) engine

	5)
	тяжелый
	a) heavy
	b)
	have
	c) heave

	6)
	мощный
	a) powering
	b)
	powerful
	c) powerless

	7) 
	ограничительный
	a) descriptive
	b)
	restocking
	c) restrictive

	8)
	развитие
	a) devotion
	b)
	description
	c) development

	9)
	сгорать
	a) to combust
	b)
	to combine
	c) to coincide

	10)
	поездка
	a) strip
	b)
	trip
	c) track

	
	
	
	
	
	

	
	
	
	
	
	


2. Fill in the gaps with the words from the box:

	is derived    include    terms    transportation    vehicle    driver



An automobile is a wheeled 1) ___ that carries its own motor. Different types of automobiles 2) ___ cars, buses, trucks, vans, and motorcycles, with cars being the most popular. The term 3) ___ from Greek 'autos' (self) and Latin 'movere' (move), referring to the fact that it /moves by itself Earlier 4) ___ terms for automobile include 'horseless carriage' and 'motor car'. An automobile has seats for the 5) ___ driver and, almost without exception, one or more passengers. It is the main source of 6) ___ across the world.

3. Match a line in A with a line in B.

	A
	B

	1. to benefit
	a) управлять (автомобилем)

	2. rear wheel
	b) начать работать 

	3. deceleration
	c) тяга, сила сцепления

	4. to lock up
	d) привод

	5. to monitor
	e) давление

	6. to kick in
	f) заднее колесо

	7. pressure
	g) клапан 

	8. gear
	h) заклинить 

	9. to steer
	i) приносить пользу, помогать

	10. valve
	j) управлять, контролировать

	11. to spin
	k) быстро вращаться, крутиться

	12. traction
	l) уменьшение скорости, торможение 



4.	Translate the following sentences into Russian. 
1. The front and rear wheels are constantly spinning during the ride of an automobile. 
2. The primary and the secondary pulley perform different functions. 3. The belt serves as a connection by which the two pulleys "communicate" with each other. 4. In a car the clutch is operated manually via a right-hand lever. 5. Remote means of clutch actuation are necessary to eliminate the effect of slight engine movement.  6. Pressure on the pedal means that the clutch plates are engaged in driving and the driver may shift gears. 
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